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QUESTION 1

Which of the following statements best expresses the role that the daily stand-up meeting plays in the monitoring of a
Scrum project?

A. The stand-up meeting helps the Scrum Master to update the burn-down chart.
B. The stand-up meeting gives the team insight into their progress and their issues.
C. The stand-up meeting lets the Product Owner review the progress of the team.

Correct Answer: B

QUESTION 2

A Definition of Done contains a number of characteristics of the potentially releasable Increment. Which of the following
characteristics belong in the Definition of Done?

A. Functional Requirement
B. Length of the Time-Box
C. Organizational Processes
D. Velocity of the Team

Correct Answer: C

QUESTION 3

Which Scrum event is meant to look back and improve upon the finished Sprint?
A. Release Sprint

B. Sprint Retrospective

C. Sprint Review

Correct Answer: B

QUESTION 4

"Programmers know exactly what others expect from them and can work more productively." Of which Agile practice is
this a benefit?

A. Bus Factor

B. Continuous Integration
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C. Pair Programming
D. Test-Driven Development

Correct Answer: D

QUESTION 5

Higher management wants to know who will be the Project Manager of the Scrum project. Which role is the same as the
Project Manager role?

A. The Product Owner

B. The Scrum Master

C. The Development Team

D. There is no such role in Scrum

Correct Answer: D

QUESTION 6

You want to convince a customer of the benefits of Scrum. What is the key benefit of Scrum for the customer?
A. Scrum ensures that the customer receives value early in the project.

B. Scrum will give customers more control over day-to-day activities.

C. Scrum will help the Team accept changes into the project at no additional cost.

Correct Answer: A

QUESTION 7

A team is estimating story points. They estimate that the story falls between a large (13) and a medium (5) and they
assign a story point of 8.

What is this technique called?
A. Affinity estimation

B. Fibonacci estimation

C. Triangulation

Correct Answer: C

QUESTION 8
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Your team uses a Kanban board to visualize the progress. Why is visualizing the progress helpful?
A. It helps the Team to work together better.

B. Visualizing helps the Scrum Master delegate.

C. The board shows co-workers how busy the Team is.

Correct Answer: B

QUESTION 9

Senior management plays a role in implementing Scrum in the organization. What role does management play?
A. They coach the Scrum Team to start using Scrum.

B. They decide where the Scrum Team works.

C. They empower the Scrum Team to do a new thing.

Correct Answer: C

QUESTION 10

Why does the Daily Scrum need to be held at the same location and time?

A. The booking of a room needs to be done in advance for the duration of the Sprint.
B. The constant time and place is best for continuity of the Scrum framework.

C. The Project Manager needs to get the status updates at a given time every day.

Correct Answer: B

QUESTION 11

Which statement describes Release Planning?

A. After looking at all the stories in the backlog, the team estimates their effort in detail.

B. The team meets with the customer to negotiate the scope, cost and time of the release.
C. The team and the Product Owner agree on an initial plan for the delivery of features.

Correct Answer: C

QUESTION 12

The Product Owner is going on a three-week vacation. The team should be closing the current Sprint and starting a new
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Sprint at the end of the first week of the Product Owner\\'s vacation.

What is the best way to continue the Scrum rituals in this situation?

A. Each Scrum team should ideally have two Product Owners to provide cover.
B. The Product Owner should be requested to delay his vacation by a week.
C. The Scrum Master should take over and cover for the Product Owner.

Correct Answer: C

QUESTION 13

What is the objective of the Scrum-of-Scrums meeting?

A. To inform management about the progress of the project.
B. Bring together all team members of all teams.

C. Coordinate the work of multiple Scrum teams.

D. Kick-off an international Scrum project.

Correct Answer: C

QUESTION 14

What is meant by the velocity of the team?

A. The rate a team puts in a normal work day.

B. The rate at which features are released to the customer.
C. The rate at which the team completes the work.

D. The rate at which the team renews itself.

Correct Answer: C

QUESTION 15

What is the usual length of the time box for the complete Sprint Planning meeting?
A. Four hours for a 30 day Sprint, one to two hours for a shorter Sprint.

B. However long it takes to complete the Sprint Backlog.

C. Never more than two hours, regardless of Sprint length.

Correct Answer: A
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